

ON NÖRLUND SUMMABILITY OF JACOBI SERIES

B. K. BEOHAR AND K. G. SHARMA

Department of Mathematics, Madhav Vigyan Mahavidyalaya, Ujjain 456010

(Received 27 April 1979; after revision 1 July 1980)

In this paper the authors prove a new theorem on Nörlund summability of Jacobi series. This theorem is an improvement over an earlier result of Pandey and Beohar (1978) and also on that of Prasad and Saxena (1979).

1. INTRODUCTION

Let $f(x)$ be defined in the closed interval $[-1, 1]$ such that the function

$$(1-x)^\alpha (1+x)^\beta f(x) \in L[-1, 1]; \alpha > -1, \beta > -1.$$

The Jacobi series corresponding to this function is

$$f(x) = \sum_{n=0}^{\infty} a_n P_n^{(\alpha, \beta)}(x) \tag{1.1}$$

where

$$a_n = \frac{(2n + \alpha + \beta + 1) \Gamma(n + 1) \Gamma(n + \alpha + \beta + 1)}{2^{\alpha + \beta + 1} \Gamma(n + \alpha + 1) \Gamma(n + \beta + 1)} \times \int_{-1}^{+1} (1-x)^\alpha (1+x)^\beta f(x) P_n^{(\alpha, \beta)}(x) dx \tag{1.2}$$

and $P_n^{(\alpha, \beta)}$ are the Jacobi polynomials.

We write

$$F(\phi) \equiv \{f(\cos \phi) - A\} \left(\sin \frac{\phi}{2}\right)^{2\alpha+1} \left(\cos \frac{\phi}{2}\right)^{2\beta+1}$$

A being a fixed constant.

The object of the present paper is to prove a theorem on Nörlund summability of Jacobi series, which improves the result of Gupta (1970), Choudhary (1970), Pandey and Beohar (1978), Prasad and Saxena (1979).

We prove the following:

Theorem — Let $\{p_n\}$ be a nonnegative, non-increasing sequence such that

$$\sum_0^n p_k = P_n \text{ and } n^{(2\alpha+1)/2}/P_n \rightarrow 0 \text{ as } n \rightarrow \infty \text{ and}$$

$$\sum_a^n \frac{P_k}{k^{(2\alpha+3)/2}} = O\left(\frac{P_n}{n^{(2\alpha+1)/2}}\right) \tag{1.3}$$

a being a fixed positive integer. If

$$\psi(t) \equiv \int_0^t |F(\phi)| d\phi = o(t^{2\alpha+2}) \text{ as } t \rightarrow 0 \tag{1.4}$$

then the series (1.1) is summable (N, p_n) at $x = 1$ to the sum A provided $-\frac{1}{2} \leq \alpha < \frac{1}{2}$; $\beta > -\frac{1}{2}$ and the antipole condition

$$\int_{-1}^b (1+x)^{(2\beta-3)/4} |f(x)| dx < \infty \tag{1.5}$$

b fixed, is satisfied

2. LEMMAS

The following lemmas are required for the proof of our theorem.

Lemma 1 — For α, β arbitrary and real and C a fixed positive constant

$$P_n^{(\alpha, \beta)}(\cos \theta) = \begin{cases} \theta^{-(2\alpha+1)/2} O(n^{-1/2}) & \text{for } \frac{c}{n} \leq \theta \leq \pi/2 \\ O(n^\alpha) & \text{for } 0 \leq \theta \leq \frac{c}{n} \end{cases} \tag{2.1}$$

[For the proof see Szegő (1959, p. 167).]

Lemma 2 — If $\alpha > -1, \beta > -1; \frac{c}{n} \leq \theta \leq \pi - \frac{c}{n}$

$$P_n^{(\alpha, \beta)}(\cos \theta) = n^{-1/2} u(\theta) \left[\cos \left\{ \left(n + \frac{\alpha + \beta + 1}{2} \right) \theta + \nu \right\} + \frac{O(1)}{n \sin \theta} \right] \tag{2.2}$$

where

$$u(\theta) = \frac{1}{\sqrt{\pi}} (\sin \frac{1}{2} \theta)^{-(2\alpha+1)/2} (\cos \frac{1}{2} \theta)^{-(2\beta+1)/2}, \nu = -(\alpha + \frac{1}{2}) \frac{\pi}{2}$$

[see Szegő (1959, p. 196)].

Lemma 3 — Let

$$N_n(\phi) = \frac{2^{\alpha+\beta+1}}{P_n} \sum_{k=0}^n p_k \lambda_{n-k} P_{n-k}^{(\alpha+1, \beta)}(\cos \theta)$$

where

$$\lambda_n = \frac{2^{-(\alpha+\beta+1)}\Gamma(n + \alpha + \beta + 2)}{\Gamma(\alpha + 1)\Gamma(n + \beta + 1)} \cong \frac{2^{-(\alpha+\beta+1)}}{\Gamma(\alpha + 1)} n^{\alpha-1}.$$

For $0 \leq \theta \leq \frac{1}{n}$

$$N_n(\phi) = O(n^{2\alpha+2}). \tag{2.3}$$

For $\frac{1}{n} \leq \theta \leq \pi - \frac{1}{n}$

$$\begin{aligned} N_n(\phi) = & \frac{1}{P_n} O[n^{(2\alpha+1)/2}P(1/\phi)/(\sin \frac{1}{2}\phi)^{(2\alpha+3)/2} (\cos \frac{1}{2}\phi)^{(2\beta+1)/2}] \\ & + O[n^{(2\alpha-1)/2}/(\sin \frac{1}{2}\phi)^{(2\alpha+5)/2} (\cos \frac{1}{2}\phi)^{(2\beta+3)/2}]. \end{aligned} \tag{2.4}$$

[For the proof of Lemma reference may be made to Pandey and Beohar (1978).]

Lemma 4 — The antipole condition

$$\int_{-1}^b (1+x)^{(2\beta-3)/4} |f(x)| dx < \infty$$

implies that

$$(\cos \frac{1}{2}\phi)^{(2\beta-1)/2} |f(\cos \phi) - A| d\phi \tag{2.5}$$

which further implies that

$$\int_0^{\frac{1}{2}} t^{(2\beta-1)/2} |f(-\cos t) - A| dt = o(1) \tag{2.6}$$

[see Gupta (1970) for its proof].

3. PROOF OF THE THEOREM

The n th partial sum of the series (1.1) at this point $x = 1$ is given by Obrechhoff (1936) as

$$s_n(1) = 2^{\alpha+\beta+1}\lambda_n \int_0^\pi (\sin \frac{1}{2}\phi)^{2\alpha+1} (\cos \frac{1}{2}\phi)^{2\beta+1} f(\cos \phi) P_n^{(\alpha+1,\beta)}(\cos \phi) d\phi.$$

Consequently

$$\begin{aligned} s_n(1) - A = & 2^{\alpha+\beta+1}\lambda_n \int_0^\pi (\sin \frac{1}{2}\phi)^{2\alpha+1} (\cos \frac{1}{2}\phi)^{2\beta+1} \\ & \times F(\phi) P_n^{(\alpha+1,\beta)}(\cos \phi) d\phi. \end{aligned} \tag{3.1}$$

The Nörlund mean of the series (1.1) at $x = 1$ is given by

$$t_n = \frac{1}{P_n} \sum_{k=0}^n p_k S_{n-k}(1).$$

Therefore

$$\begin{aligned} t_n - A &= \frac{1}{P_n} \sum p_k 2^{\alpha+\beta+1} \lambda_{n-k} \int_0^\pi F(\phi) P_{n-k}^{(\alpha+1, \beta)}(\cos \phi) d\phi \\ &= \int_0^\pi F(\phi) N_n(\phi) d\phi \\ &= \int_0^{1/n} + \int_{1/n}^\delta + \int_\delta^{\pi-(1/n)} + \int_{\pi-(1/n)}^\pi \\ &= I_1 + I_2 + I_3 + I_4, \text{ say} \end{aligned} \tag{3.2}$$

δ being a suitable constant.

$$\begin{aligned} I_1 &= \int_0^{1/n} F(\phi) N_n(\phi) d\phi \\ |I_1| &= O(n^{2\alpha+2}) o(n^{-(2\alpha+2)}), \text{ by (1.5)} \\ &= o(1). \end{aligned}$$

In order to estimate I_2 we employ the asymptotic relation given in (2.4). Thus

$$\begin{aligned} I_2 &= O \int_{1/n}^\delta |F(\phi)| \frac{(n^{2\alpha+1})^{1/2}}{P_n} P(1/\phi) (\sin \frac{1}{2}\phi)^{-(2\alpha+3)/2} d\phi \\ &\quad + O \int_{1/n}^\delta |F(\phi)| \cdot (n^{2\alpha-1})^{1/2} (\sin \frac{1}{2}\phi)^{-(2\alpha+5)/2} d\phi \\ &= I_{2,1} + I_{2,2}, \text{ say.} \end{aligned} \tag{3.3}$$

Now

$$\begin{aligned} I_{2,1} &= O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) \int_0^{1/n} \frac{|F(\phi)| P(1/\phi)}{\phi^{(2\alpha+3)/2}} d\phi \\ &= O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) \left[o\left(\frac{t^{2\alpha+2} P(1/t)}{t^{(2\alpha+3)/2}}\right)_{1/n}^\delta + o \int_{1/n}^\delta \phi^{2\alpha+2} \frac{d}{d\phi} \left(\frac{P(1/\phi)}{\phi^{(2\alpha+3)/2}}\right) d\phi \right] \end{aligned}$$

$$\begin{aligned}
 &= o(1) + O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) \left[o \int_{1/\delta}^n \frac{1}{x^{2\alpha+2}} \frac{d}{dx} | (P(x) \cdot x^{(2\alpha+3)/2}) | dx \right. \\
 &= o(1) + O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) \sum_a^n \frac{1}{k^{(2\alpha+3)/2}} | \Delta \{P(k) \cdot k^{(2\alpha+3)/2}\} | \left. \right] + O(1)
 \end{aligned}$$

where

$$\begin{aligned}
 a &= \left[\frac{1}{\delta} \right] + 1, n \geq [1/t] \\
 &= o(1) + O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) o \sum \frac{P_k}{k^{(2\alpha+3)/2}} \\
 &= o(1) \text{ by (1.3)} \qquad \dots(3.4)
 \end{aligned}$$

$$\begin{aligned}
 I_{2.2} &= \int_{1/n}^{\delta} | F(\phi) (n^{(2\alpha-1)/2}) (\sin \frac{1}{2} \phi)^{-(2\alpha+5)/2} d\phi \\
 &= O(n^{(2\alpha-1)/2}) \int_{1/n}^{\delta} \frac{F(\phi) d\phi}{\phi^{(2\alpha+5)/2}} \\
 &= O(n^{(2\alpha-1)/2}) \left[\left\{ \frac{1}{\phi^{(2\alpha+5)/2}} o(\phi^{2\alpha+2}) \right\}_{1/n}^{\delta} + o \int_{1/n}^{\delta} (\phi^{(2\alpha-3)/2}) d\phi + O(1) \right] \\
 &= O(n^{(2\alpha-1)/2}) o(\phi^{(2\alpha-1)/2}) \\
 &= o(1). \qquad \dots(3.5)
 \end{aligned}$$

Considering I_3 , we have

$$\begin{aligned}
 I_3 &= O \int_{\delta}^{\pi-(1/n)} \frac{| F(\phi) | P(1/\phi)}{(\sin \frac{1}{2} \phi)^{(2\alpha+3)/2} (\cos \frac{1}{2} \phi)^{(2\beta+1)/2}} \left(\frac{n^{(2\alpha+1)/2}}{P_n} \right) d\phi \\
 &\quad + O(n^{(2\alpha-1)/2}) \int_{\delta}^{\pi-(1/n)} | F(\phi) | \frac{d\phi}{(\sin \frac{1}{2} \phi)^{(2\alpha+5)/2} (\cos \frac{1}{2} \phi)^{(2\beta+1)/2}} \\
 &= O\left(\frac{n^{(2\alpha-1)/2}}{P_n}\right) \int_{\delta}^{\pi-(1/n)} | F(\cos \phi) - A | (\cos \frac{1}{2} \phi)^{(2\beta-1)/2} \cos \frac{1}{2} \phi d\phi \\
 &\quad + O(n^{(2\alpha-1)/2}) \int_{\delta}^{\pi-(1/n)} | F(\cos \phi) - A | (\cos \frac{1}{2} \phi)^{(2\beta-1)/2} d\phi \\
 &= O\left(\frac{n^{(2\alpha+1)/2}}{P_n}\right) + O(n^{(2\alpha-1)/2}) \\
 &= o(1) \text{ as } n \rightarrow \infty. \qquad \dots(3.6)
 \end{aligned}$$

Finally coming to I_4

$$\begin{aligned}
 I_4 &= \int_{\pi-(1/n)}^{\pi} F(\phi) \frac{2^{\alpha+\beta+1}}{P_n} \sum_{k=0}^n p_k \lambda_{n-k} P_{n-k}^{(\alpha+1, \beta)} (\cos \phi) d\phi \\
 &= \frac{2^{\alpha+\beta+1}}{P_n} \sum_{k=0}^n \int_0^{1/n} |F(\pi - \theta)| \lambda_{n-k} p_k P_{n-k}^{(\alpha+1, \beta)} (\cos \phi) d\phi \\
 &= O\left(\frac{1}{P_n}\right) \sum_{k=0}^n p_k (n-k)^{\alpha+1} \int_0^{1/n} O(n-k)^\beta |F(-\cos \phi) - A| \\
 &\quad \times (\sin \frac{1}{2} \phi)^{2\beta+1} (\cos \frac{1}{2} \phi)^{2\alpha+1} d\phi \\
 &= O(n^{\alpha+\beta+1}) \int_0^{1/n} |F(-\cos \phi) - A| \phi^{\beta-1} d\phi \\
 &= o(1) \text{ by (2.6).}
 \end{aligned}$$

Thus the theorem is completely established.

Example — If we take

$$f(\phi) = \phi^p (\sin \frac{1}{2} \phi)^{2\alpha} (\cos \frac{1}{2} \phi)^{2\beta} \sin \phi, \quad p > 0$$

which is the case when $x = \cos \phi$, then we get

$$\begin{aligned}
 \int_0^t |F(\phi)| d\phi &= O(t^{2\alpha+2+\gamma}), \quad \gamma > 0 \\
 &= o(t^{2\alpha+2}) \text{ as } O(t^\gamma) \rightarrow 0, \text{ as } t \rightarrow 0.
 \end{aligned}$$

Thus $F(\phi)$ satisfies the condition (1.4) of our theorem.

Also as $n^{(2\alpha+1)/2}/P_n$ is decreasing we take $P_n = n^p$ such that $p > \alpha + \frac{1}{2} > 0$ or let

$$P_n = n^{(2\alpha+1+2\delta)/2} \text{ as } \alpha > -\frac{1}{2}, \delta > 0.$$

Again

$$\begin{aligned}
 \sum_a^n \frac{P_k}{k^{(2\alpha+3)/2}} &= \sum \frac{k^p}{k^{(2\alpha+3)/2}} \\
 &= \sum_a^n \frac{k^{(2\alpha+1+2\delta)/2}}{k^{(2\alpha+3)/2}}
 \end{aligned}$$

$$\begin{aligned}
&= \sum_a^n \frac{1}{k^{1-\delta}} \\
&= O(n^\delta) \\
&= O\left(\frac{n^{(2\alpha+1+2\delta)/2}}{n^{(2\alpha+1)/2}}\right) = O\left(\frac{P_n}{n^{(2\alpha+1)/2}}\right).
\end{aligned}$$

Thus condition (1.3) of our theorem is satisfied. From the above various examples can be constructed, by choosing suitable values.

ACKNOWLEDGEMENT

The authors are thankful to the referee for his valuable suggestions.

REFERENCES

- Choudhary, R. S. (1970). On Nörlund summability of Jacobi series. *Rend. Acc. Naz Lincei, Ser. 8a*, **52**, 644-52.
- Gupta, D. P. (1970). Nörlund summability of Jacobi series. D.Sc. thesis, University of Allahabad, Allahabad.
- Obrechhoff, N. (1936). Formules asymptotiques pour les polynômes de Jacobi et sur les séries suivant les mêmes, polynomes. *Annuaire L' Univ. de Sofia, Faculte Physico, Mathematique*, **1**, 39-133.
- Pandey, G. S., and Beohar, B. K. (1978). On Nörlund summability of Jacobi series. *Indian J. pure appl. Math.*, **9**, 501-509.
- Prasad, Rajendra, and Saxena, Ashok (1979). On the Nörlund summability of Fourier-Jacobi series. *Indian J. pure appl. Math.*, **10**, 1303-11.
- Szego, G. (1959). *Orthogonal Polynomials*. Amer. Math. Soc. Colloq. Publ., New York.